@& YAMAHA

U-BRACKET

SPEAKER BRACKET / SUPPORT D'ENCEINTE / SOPORTE DE ALTAVOZ E

KPEMJIEHUE ANA AKYCTUYECKOW CUCTEMbI ,
BREER/RAE-HN—T3rv bk

UB-DXRDHR12 i
UB-DXRDHR10

IS

Franca

Portugués

Owner’s Manual
Benutzerhandbuch

Mode d’emploi

Manual de instrucciones
Manual do Proprietario
Manuale di istruzioni
PykoBoAcTBO nosnb3oBaTernA
fERRAE

{EFEREAE

AlZ AEN

HiREHEAE

o
-

2= —
HEEHHEEEHEEHA
eh=301

(3
>



Contents

[INTrOAUCHION ... 2
PRECAUTIONS ... 2
Package ContentS.......ccoooviiiiiiiioiieee e 3
Check Before Installation ... 3
Introduction

Installation INStruCtionS ..o 4
SPECIfICAtIONS ... 46
DIMENSIONS ..o 47

Thank you for purchasing the Yamaha UB-DXRDHR12 or UB-DXRDHR10 U-BRACKET.
This product is a bracket designed for use in installation of the following Yamaha speakers:

UB-DXRDHR12: DXR12, DHR12, CHR12
UB-DXRDHR10: DXR10, DHR10, CHR10

This manual explains how installation personnel can attach a speaker to the bracket and install the

speaker on a wall or ceiling.

Please read this manual thoroughly before you begin using this product. After reading this manual,

please keep it available for future reference.

¢ In this manual, DXR12 and DXR10 speakers are referred to as “DXR,” DHR12 and DHR10 speakers as “DHR,” and CHR12 and CHR10 speak-

ers as “CHR.”

PRECAUTIONS

PA_en_14

PLEASE READ CAREFULLY BEFORE PROCEEDING

Please keep this manual in a safe place for future reference.

/\ WARNING

Always follow the basic precautions listed below to avoid
the possibility of serious injury or even death from
electrical shock, short-circuiting, damages, fire or other
hazards. These precautions include, but are not limited
to, the following:

Setting

¢ \When mounting on a wall, do not use
the bracket vertically or at an angle
to the ground. Otherwise, the
speaker weight may cause the

bracket to bend.

e Do not attach this product to any speaker not specified as
compatible. Doing so may result in damage or injury.

Do not modify

- Avoid locations that are exposed to constant vibration.

- Use the required tools to install the product.

- Use bolts and nuts as well as washers for installation and
tighten them firmly so that the speaker is secure and does
not move.

- Always loosen the corresponding screw before adjusting the
angle or direction of the speaker. Never force this adjustment
with the screw still tightened.

- Inspect the product periodically.

Improper installation might cause accidents, injuries, damage

or malfunction of this product.

¢ Keep this product out of reach of children. Do not handle this
product in locations where children are likely to be present.

¢ Do not place the product in a location where it may come into
contact with corrosive gases or salt air. Otherwise, certain
parts might deteriorate, causing the speaker to fall.

Handling caution

¢ Do not attempt to modify the product. Doing so can result in
damage or injury.

A CAUTION

Always follow the basic precautions listed below to avoid
the possibility of physical injury to you or others. These
precautions include, but are not limited to, the following:

Setting

e Always consult qualified Yamaha service personnel if the
product installation requires construction work, and make sure
to observe the following precautions.

- Choose mounting hardware and an installation location that
can support the weight of the product.

2 | UB-DXRDHR12 UB-DXRDHR10 Owner’s Manual

¢ Do not apply excessive force to this product. Otherwise, it
might deform, causing the speaker to fall.

B About this manual
e The illustrations as shown in this manual are for instructional
purposes only.

e The company names and product names in this manual are
the trademarks or registered trademarks of their respective
companies.

B About disposal

e This product contains recyclable components.
When disposing of this product, please contact the
appropriate local authorities.



Package Contents

©® Brackets x 2

® Parts bags x 3

Use two of these.

FOR FOR FOR
DXR &DHR DXR DHR
Required. S

B Parts bag contents

® Owner’s Manual
(this book)

Select one with the name of the speaker you are using.

For the CHR, select “FOR DHR.”

FOR DXR & DHR

FOR DXR

FOR DHR (CHR)

M5x10 screws
with flat washer and
spring washer x 4

M8 spring washers x 2

M8 flat washers x 2

Spacers,
3.2 mm thickness x 2

OROICR

M5x16 screws
with flat washer and
spring washer x 2

M8x25 hexagon bolts x 2

Rubber spacers
(250 mm, 10 mm thickness)
X 2

Bottom plate x 1

For DXR10 h.\‘
(o TT9)

ForDXR12 (5

M8x35 hexagon bolts
with flat washer and
spring washer x 4

M8x55 hexagon bolts
X 2

Rubber spacers
(50 mm, 18 mm thickness)
X 2

Bottom plate x 1

Check Before Installation

Fittings, bolts, and other items for installing the bracket to a wall or ceiling are not included. If you are not sure what fittings to

use, consult a specialist.

é CAUTION

the DHR and CHR, use eye bolts 30—-50 mm in length.

* When installing the safety wire to the wall, install it higher than the wire’s attach-
ment point on the speaker, with as little slack as possible. If the wire is too long,
and the speaker happens to fall, the wire may snap as a result of too much strain.

* Make sure that the installation surface is strong enough to support the total weight of the speaker and the U-bracket. If you are
not sure about the installation surface, consult a specialist. Avoid attaching the U-bracket to drywall such as acoustic tiles.

* Be sure to take precautionary measures by using safety wires to prevent the
speaker from falling in the event of an installation failure. To install safety wires,
attach commercially-available eye bolts to the M8 screw holes for the U-bracket,
and to the M10 screw holes for eye bolts (M8 on the DXR10) that are located on the
top panel (two locations) and on the rear panel (one location) on the speaker. For

Example, DHR10

improper installation.

Yamaha cannot be held responsible for damage or injury caused by insufficient strength of the support structure or

UB-DXRDHR12 UB-DXRDHR10 Owner’s Manual | 3




Installation Instructions

You can install the speaker either vertically or horizontally on
a wall or ceiling.

CAUTION
Make sure that you do not pinch your fingers
between the U-bracket and speaker.

(DHR, CHR only) Carefully store the screws removed from the
speaker so that they are not lost. Using the speaker with the screws
removed will negatively affect sound quality due to air leakage
because the screw holes penetrate the inside of the speaker cabi-
net. Re-install the screws to the original screw holes after removing
the U-bracket.

Unless otherwise noted, explanations in this manual are
based on an example of installing the DXR10 speaker to the
UB-DXRDHR10.

Vertical installation

1. Assemble two L-shaped brackets into a U-shape using
the included M5 x 10 screws as shown in the figure
below. Peel off the sheet from each rubber spacer, and
then attach the spacers to the inside of each bracket arm
by aligning the holes so that the hexagon bolts can be
inserted.

M5 x 10

%ﬂ

= i

5 ;
%OOQD
S
Q
~

==

M5 x 10
&
M5 x 10

2. Make sure that the width of the U-bracket matches the
speaker width.

For DXR For DHR and CHR

O 0

10 mm thick 18 mm thick

3. Affix the U-bracket on the wall or ceiling using appropri-
ate metal brackets and bolts. These metal brackets or
bolts are not included in the package. If you are not sure
what to use to affix the U-bracket, consult a specialist.

4 | UB-DXRDHR12 UB-DXRDHR10 Owner’s Manual

4. As shown in the illustration below, attach the speaker to
the U-bracket using the appropriate parts for the speaker

model.
M8 x 25 hexagon bolts, M8 spring washers,
DXR
M8 flat washers
DHR, CHR M8 x 55 hexagon bolts, M8 spring washers,
M8 flat washers
B DXR

Use the bolt hole on each side of the speaker.
For the DXR12, use the bolt hole located in the center of the han-
dle on each side of the speaker.

M8 x 25
hexagon bolt

M8 x 25
hexagon bolt

J ;‘i Remove the label
that was attached
for shipping.

DXR12

B DHR, CHR

Use the bolt hole on each side of the speaker.

M8 x 55
hexagon bolt

M8 x 55
hexagon bolt

Use a 5 mm hex

= ;  key to remove the
“-.i two M8 screws that

were attached for

shipping.

5. Adjust the speaker angle, then tighten the bolts until the
speaker is securely affixed. The recommended torque is
12.4 Nm.




Horizontal Installation

1. As shown in the illustration below, attach the bottom plate
to the bottom of the speaker using the appropriate parts
for the speaker model.

DXR M5 x 16 screws

DHR, CHR M8 x 35 hexagon bolts

The recommended torque is 3 Nm for DXR, and 12.4 Nm
for DHR and CHR.

B DXR

M5 x 16 screw

B DHR, CHR

Use a 5 mm hex key
to remove the screws
that were attached for

shipping.

M8 x 35 hexagon bolt

2. Assemble two L-shaped brackets into a U-shape using
the included M5 x 10 screws as shown in the figure
below. Peel off the sheet from each rubber spacer, and
then attach the spacers to the inside of each bracket arm
by aligning the holes so that the hexagon bolts can be
inserted.

For DXR For DHR and CHR

' 10 mm 0 18 mm
thick thick

Installation Instructions

3. Make sure that the width of the U-bracket matches the
speaker width.

4. Affix the U-bracket on the wall or ceiling using appropri-
ate metal brackets and bolts. There will be a slight gap
between the U-bracket and the wall surface. Insert spac-
ers into the gap and affix them with bolts. These metal
brackets or bolts are not included in the package. If you
are not sure what to use to affix the U-bracket, consult a
specialist.

5. As shown in the illustration below, attach the speaker to
the U-bracket using the appropriate parts for the speaker
model.

M8 x 25 hexagon bolts, M8 spring washers,
DXR

M8 flat washers
DHR, CHR M8 x 35 hexagon bolts

Hexagon
bolt

L— Use the following location on the top panel of the speaker
for installation.

DXR10, DHR, CHR DXR12

Bolt hole in the center of the
handle

Bolt hole on the speaker unit

NG

6. Adjust the speaker angle, then tighten the bolts until the
speaker is securely affixed. The recommended torque is
12.4 Nm.

UB-DXRDHR12 UB-DXRDHR10 Owner’s Manual | 5



Specifications / FiARFE / %

UB-DXRDHR12 UB-DXRDHR10
Material / #1%} / #438 Steel / 0 / Steel / 0 / #
Net Weight / #E / ;FE 5.9 kg 4.4 kg

* The contents of this manual apply to the latest specifications as of the publishing date. To obtain the latest manual, access the
Yamaha website then download the manual file.

* Der Inhalt dieser Bedienungsanleitung gilt fiir die neuesten technischen Daten zum Zeitpunkt der Veréffentlichung. Um die
neueste Version der Anleitung zu erhalten, rufen Sie die Website von Yamaha auf und laden Sie dann die Datei mit der
Bedienungsanleitung herunter.

*

Le contenu de ce mode d’emploi s’applique aux derniéres caractéristiques techniques connues a la date de publication du
manuel. Pour obtenir la version la plus récente du manuel, accédez au site Web de Yamaha puis téléchargez le fichier du
manuel concerné.

*

El contenido de este manual se aplica a las ultimas especificaciones segun la fecha de publicacién. Para obtener el ultimo
manual, acceda al sitio web de Yamaha y descargue el archivo del manual.

*

O conteudo deste manual se aplica as especificagdes mais recentes a partir da data de publicagéo. Para obter o manual mais
recente, acesse o site da Yamaha e faca o download do arquivo do manual.

* |l contenuto del presente manuale si applica alle ultime specifiche tecniche a partire dalla data di pubblicazione. Per ottenere la
versione piu recente del manuale, accedere al sito Web Yamaha e scaricare il file corrispondente.

B cogep>kaHmu oaHHOro pykoBoAcTBa NpvBeAEHbI NOCNEAHME HA MOMEHT NybMKaumm TEXHUYECKME XapaKTepucTuku. [na
noslydeHuA NocrnegHen Bepcum pyKoBOACTBA NOCeTUTe Beb-canT Kopnopauum Yamaha u 3arpyaute ann ¢ pyKoBoACTBOM.

KNMERWABHNE N HRF BB AME, EE Yamaha Wb FEEMRAEIEA BB,
KMEMARAENARE 2 HAREFRIAVRAMTRE o 55E Yamaha $Hib T ERMARAERRAE -

= HEMOLHE2 LHY A 2| M AFE 7|E22 5t YASH. 2 HFME 7t 22 H Yamaha #AO|EOf| 43 5
SHEIAMMUS HZREROHAR.

*AER. BORRCORFERTHAL VI T &RIE. PYN\D I TYA 5500 RTEXT,

*

*

*

* You can also use the U-bracket along with an optional bracket that is sold separately. Please visit the following Yamaha Pro
Audio site for more information on the products:

*

Der U-Montagebligel kann ebenfalls mit einer optionalen, separat erhéltlichen Halterung eingesetzt werden. Weitere
Informationen finden sich auf der folgenden Yamaha Pro Audio Website:

Vous pouvez aussi utiliser la lyre en combinaison avec un support disponible en option. Veuillez surfer sur le site internet
Yamaha Pro Audio suivant pour plus de renseignements sur ces produits.

*

También puede utilizar la abrazadera en U junto con una abrazadera opcional que se vende por separado. Visite el siguiente
sitio web de Yamaha Pro Audio para mas informacién sobre los productos:

*

Vocé também pode usar o suporte em U junto com um suporte opcional vendido separadamente. Visite o seguinte site da
Yamaha Pro Audio para obter mais informagdes sobre os produtos:

*

E inoltre possibile usare la staffa a U insieme a una staffa opzionale venduta separatamente. Per ulteriori informazioni sui
prodotti, visitare il seguente sito Yamaha Pro Audio:

Bbl moxeTe Takxe ncnonbdoaTb U-06pasHbii KPOHLITEVH BMECTE C AOMOMHUTENbHBIM KPOHLITENHOM, KOTOPbIV NpogaeTcA
oTaenbHo. MNMocetute cneaytowmin cant Yamaha Pro Audio ana nonyyeHna 6onee nogpobHomn nHopmaumm o6 ngenmax:

EFAFBER U RS RS ESESRE, BSERER, HHEUT Yamaha Pro Audio Wik:
TN U BRI S SRR - ARERNESEM » HEHLUT Yamaha Pro Audio 4 -

HOHQl S 4 BT A UAE BN A BT S5 USLICE A B0l T3 AHAI3H % 2= 0f2f Yamaha Pro QL2 AfO|E S
TELTEYEY

*UJSTy MME BIEDA TV av TS50y hEHBPEDEBTERATER Y. RRERITEROVTY/I\ TJOFT—F 1T YA
becBELEEL,

*

*

*

[=] ks [s]

:

¢ https://www.yamahaproaudio.com/

46 | UB-DXRDHR12 UB-DXRDHR10 Owner’s Manual



Dimensions / JMER~T /1 R~

® UB-DXRDHR12

|
(f ® o] T
3.2
—>u<73.2
639
‘ 09~ ¢ 125 213
T e, O\ 5%3 AL T=1 E{}—;f
131 - oMo e - 80
RN - - :
—
085~ 127 70 @ 10
250.2 L 250.2
397
389
0o~ ¢ 15—= ?13
T {%3\‘9 xzj)@ <> b
,,,,, bl
- 2 t e
wsst ‘%1274
125.1 —»h—125.1
m UB-DXRDHR10
|
o o o] t
3.2
32
| 551 »
?9 ‘ 213 —‘
= o \ /@ I o e f——
106 T -—0—- W / B r 56
JL@ o ’ I '
\Rmsto.s 10
+——120—» 32
le———213.8———»le——213.8——»|

346
337

g

ER AR

" 10— | T

+«—120—

le——213.8——»

UB-DXRDHR12 UB-DXRDHR10 Owner’s Manual

®9

9

266.5
356
411

Unit: mm
BARTT © mm

2225
327.5

Unit: mm
BART © mm

47



Yamaha Worldwide Representative Offices

For details on the product(s), contact your nearest Yamaha representative or the authorized distributor, found by accessing the 2D barcode
below.

Wenden Sie sich fir nahere Informationen zu Produkten an eine Yamaha-Vertretung oder einen autorisierten Handler in Ihrer Nahe. Diese
finden Sie mithilfe des unten abgebildeten 2D-Strichodes.

Frangais

Pour obtenir des informations sur le ou les produits, contactez votre représentant ou revendeur agréé Yamaha le plus proche. Vous le trouverez
a l'aide du code-barres 2D ci-dessous.

Para ver informacion detallada sobre el producto, contacte con su representante o distribuidor autorizado Yamaha mas cercano. Lo encontrara
escaneando el siguiente codigo de barras 2D.

Italiano

Per dettagli sui prodotti, contattare il rappresentante Yamaha o il distributore autorizzato piu vicino, che & possibile trovare tramite il codice a
barre 2D in basso.

Portugués

Para mais informagdes sobre o(s) produto(s), fale com seu representante da Yamaha mais préximo ou com o distribuidor autorizado acessando
o cédigo de barras 2D abaixo.

Pycckui

YTo6bI Y3HaTb no,u,po6Hee O npoaykTe (npo,quTax), CBSDXUTECH C GnivxanLmm npencrasuTenem uUnn aBTopu3oBaHHbIM ,ElMCTpM6bIOTOpOM
Yamaha, Bocrnons3oBaBLINCb ABYXMEPHbIM LUTPUXKOOOM HUXKE.

B
MBFEXTmBFAER, BRAELCRENYamahaUREURINEHER, @A THH 2D FEHREIXENRIEHEHTN

.
=8,

FREH
MBEMAVFAEN - FHARRCERERITA Yamaha SHERRIIRELHRE - SRR T AN ZERSEEEMBEER -

oh=0]
HZoil chet Xt et F == o2l 2D HEZE0i| AM| ASH 717H2 Yamaha B HONE L= SA CH2|H0l| 22sHAIL.

https://manual.yamaha.com/pa/address_list/

Head Office/Manufacturer: Yamaha Corporation 10-1, Nakazawa-cho, Chuo-ku, Hamamatsu, 430-8650, Japan PAG1
Importer (European Union): Yamaha Music Europe GmbH Siemensstrasse 22-34, 25462 Rellingen, Germany
Importer (United Kingdom): Yamaha Music Europe GmbH (UK) Sherbourne Drive, Tilbrook, Milton Keynes, MK7 8BL, United Kingdom

Yamaha Pro Audio global website
https://www.yamahaproaudio.com/

Yamaha Downloads

HORERETm (PE) BEAGRLA
LEmEHEZXEEK 18185 =FfIK/E 21
EPRE#HL: 4000517700

AT ML https://www.yamaha.com.cn

I #&: BOREF (M) GRAHE
T ik IHEBMmAMAEELRE 185

https://download.yamaha.com/

© 2024 Yamaha Corporation
Published 01/2024
2024F1R &1T

IPES-AQ

B [VHA5230



	Contents
	Introduction
	PRECAUTIONS
	Package Contents
	Check Before Installation
	Installation Instructions
	Specifications
	Dimensions

